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This Question Paper consists of 30 questions and 8 printed pages.
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General Instructions : EIfE

1

Candidate must write his/her Roll Number on the first page of the Question Paper. g

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 55/ASS/3, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

et (Ra=)
(314)
Time : 3 Hours] [Maximum Marks : 80
Gk SR L [qotie : 80
Note : (i) This Question Paper consists of 30 questions.
(ii) All questions are compulsory.
(ii1)) Marks for each question have been indicated against it.

(iv)

Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Choose the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No separate time is allotted for attempting multiple
choice questions.

et () 3@ weTw H 30 wed ¥ |
(i) | weT A ¥ aem
(iil) Y% UST ¥ oib TEF AN W W ¥ | EEE
(iv) agfosedl U %6 | & 8 T% & YdH UsT ¥ IR Jdieusd 3K (A), (B),
(C) ik D) g ™ T ™d 9 us w81 a1 gaifte Sfad & | 9 Jahieadh
I H T IAX g qAT SH Ul ST-YRABT H USH HHID & A
fafed | Sgfomed wedl & fod erfafea @ T2 foar s |
1 Which of the following bacteria fixes nitrogen in the soil ?
(A) Azotobacter (B) Salmonella
(C) Rhizobium (D) Streptomyces
frfafad & & dF-a1 SFRIE TEgeE & e § Rew &ear § 7
(A)  TwrRidFERT (B) @raHIHar
(©) e (D) el HR
2 Which of the following organs is not part of male reproductive system
of cockroach ?
(A) Testis (B) Vas deference
(C) Ejaculatory duct (D) Penis
T A DA S fadEs & T ST Sf M H T urEn Sar ¢
(A) Fum (B) yhaes
(C) wEeHE el (D) fired
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3 Which of the following is a modified leaf ? 1
(A) Cladode (B) Phyllode
(C) Phyllotaxy (D) Phylloclad
T ¥ HE-Ul ®UCRT o § 7
(A) woTrHgd (B) oty
(C) woiferarE (D) oI
4 Which of the following animals is radially symmetrical ? 1
(A) Bony fish (B) Jelly fish
(C) Earthworm (D) Ascaris
T ¥ feg ol § ol wHtMia B %7
(A) TRy Al (B) SieliftRsT
(C) dhgan (D) @i EE
5 Which of the following terms is used for flowers which remain closed 1
until pollination ?
(A) Homogamy (B) Cleistogamy
(C) Isogamy (D) Anisogamy
frafafeg & @ &1 & 37 g0 & [T SUged & S W 9@ Al T gad ?
(A) TR (B) oI~ AT
(C) Ry (D) STEAGTHSTAT
6 Which of the following is a monosaccharide ? 1
(A) Sucrose (B) Maltose
(C) Glucose (D) Lactose
TH  BE-E ANEGagS § 7
(A) garE (B) W
(C) TE (D) wwR™
7 Deficiency of which vitamin causes night blindness ? 1
(A) By B) A
<€ C D) D
fore faee @ &1 & AT T e & 7
() A, ® T
© @ D) & &&
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8 Which of the following infections induces life-time immunity ? 1

(A) Common cold (B) Influenza

(C) Small pox (D) Pneumonia

T 9 DT GHAT SEa-9Y B UAien S hidl © ¢

(A) &b (B) WY

EHE

(C) == (D) =gHifmar g

9 List the various modes of nutrition in Bacteria. 2

JFEIfE ¥ quwr @ fafgy falml & 9w sqse |

10 Give one example of each of the following : 2
(a) a reptile without limbs
(b) a flying mammal
(¢) a pouched mammal
(d) an egg laying mammal
frafafed & yd® &1 TH-TH SeE AR
(%) UREM Yudfwar |
(@) Ss9 9 @ |
(M w e A § e ekl T
@) W e AEr ofEuwe el § O E’%

11  Classify the organisms with following characters in their respective group : 2
(a) Autotrophs; no vascular tissue; sex organs antheridia and archegonia
(b) Autotrophs; vascular tissue present; sex organs antheridia and archegonia
(c) Autotrophs; vascular tissue present, ovules enclosed in ovary

(d) Autotrophs; vascular tissue present, ovules naked
@ T W@l % SmER WX Sl Wl WYl H eniipd iy
(@) w@ady; Gael Sae e U W, S o eaffEEr qen enfemitrn
(@) w@ul; Sael Sae 9N W €, S99 o ugifear e sufeitn
(M U gaE Sae qC oW ¥, des sRnE % fd <
(@) U, Sae Sae 9 W €, Seie T
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12  What are the characteristics of meristematic tissue ? Where are meristems located ? 2

fawriqent & Y@ @@ ® § P Y Hel 9C I & 7

13 Mark the following statements as true or false : 2
(a) Origin of lateral shoots is endogenous.
(b) In stems vascular bundles are radial.
(¢) In dicot stems vascular bundles are closed.
(d) In monocot stem vascular bundles are scattered.

frfafag wesi & @ 98 9 T@d 9@RT |

() uwed smaErel W SAfd Sidsia Bl & |

(@ o o dae q@ oy FERyud €9 ¥ ¥ § |
(

M) fEdeE o o d@9e q@ §< B §
(@) uHdwEE o ¥ waed @ few gy A9 ¥ ERE
14 Answer the following : 2

(1)  Which photosystem is operational during cyclic photophosphorylation ?
(ii)) Which organisms show cyclic photophosphorylation ?

(iii)) How does Pgg, regain its lost electrons ?

(iv) Which reaction centre brings about splitting of water ?

frafafaa wedi & sOX AT ¢

(i) THIT BIRIBIEHIABIOT H BT GHIST-d3 Tlhd BT T 7
(i) THT BRIBEHAGI bt Sial § 81 & 7

(ili) Pggp T WY TY FAHEH Hd dAUE WK &N & 7

(iv) TpE yeIeEs T S @ faEed e -

15 What is the importance of decomposers in nature ? Give two examples. 2

STIEHl H UHRT ¥’ AE@ ¥ 7 3T a1 saeer g |

16 Name the processes involved in the following activities : 2
(a) Mechanical process of taking in atmospheric air into the lungs and giving
out CO,.
(b) Quick closing of eyelids on noticing an object suddenly approaching
the eye.

frrfafaa weTel & wF-8 uiear afeq &t @ ¥ 7
(@) wityew fafy & ag & Bwsl & Hax & 91 8k CO, @l a8 e |
(@) fodl Al g B SEE AW H TH AW T@HT JLd TdH 7 BT o0 |
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17  Give reasons : 2
Blood group of 'O' type can be given to all groups and a person with blood
group 'AB' can receive blood from all groups.
HU TdARY
YT 'O BN BT T Ul A ATl Bl AT S FHhAT § X 'AB' B
AT AR 3T T BT AW AT W B qhal § |

18 Give two advantages and two disadvantages of vegetative reproduction. 2

FUH S & & @9 qAT & FEl SRy |

19 Name the following : 2
(i) Hereditary congenital defect caused due to the absence of both B and
T cells.

(i1)) Blood vessel that brings deoxygenated blood from the lower parts of
the body to right auricle.

h AW qaR
(i) omgafies e T fEd A qen 3 @i dFf TR g |
(i) SRR afewr i R & Fraw 9 @ fereiafa s s enfvig

: ERE
L I S e
20  What are the steps of transcription in prokaryotes ? 2

WAl ¥ e & faf = T SaRy |

21 Draw labelled diagrams of the following : 4
(a) Excretory organs of man
(b) Stomatal apparatus of a dicot leaf
frefaieq & -mifea fosr IET -
(®) HEE & Soaoid S
(@) fedisas o=l &1 3y Susw o

22 Differentiate between : 4
(a) Gametophytic phase and sporophytic phase in Bryophytes
(b) Zoospore and Zygospore in Chlamydomonas
X WE HINT
@) SR ¥ RRERE e wRes seen
(@) FIHESHART ¥ R J9 SR
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23 (a) What are the various steps of nitrate assimilation in plants ? 4
Give equations.

(b) What is the importance of excretion ? Name an ammoniotelic animal.
@) Wl H g & @i & O o -9 ¥ 7 wieer 9aRy |
(@) IESH & F Aed & ¢ Th SIS qol & AW SRy |

24 Name the hormones secreted by posterior lobe of pituitory gland; their mode 4
of action and abnormality produced because of its deficiency.

Iy W B 99T § Wiad B A Bl % AW SA1ST, 37 Ml @l A

EHE

TAEY AT 3T FqEATT F B A AUEHIEAG bi-d € 7 Eae

25 (a) Name the scientists : 4
(1) Discovered bacterial transformation in streptococcus pneumoniae.
(ii)) Awarded Nobel Prize for working out the structure of DNA.
(b) What are the functions of tRNA ?

(%) Jshl % AW TARY

() Belwlpg gaitEE § Have sawRer S @l |

(i) SLTAT. & GET B @S B & [ Aed @R uw |
(@) tRNA & &Y 9T | %ﬁ

26 (a) What will be the progeny of a carrier female for colourblindness with 4
a colourblind male ?

(b) "In honeybee males have no father and cannot have sons, but have a
grandfather and can have grandsons". Explain.

(F) UH qUIY IqEd S g Juig e b Gad Hel sEN 7
(@) ‘“Agmed § X % U T2 B ol S §F TRl ¥ "Wad Witk TuarTe
AR U B ¥ 17 39 Hu d gdedr e @Y |

27 (a) Why water and Roughage are important part of our diet ? Explain. 6

(b)  Where does heart beat originate ? How is this impulse conducted to heart
muscles ? What is the effect of this impulse on various chambers of the
heart ?

(F) W@ qAT WA TAR A & &I 9F § | GAART |

(@) TIT-WE BT YO Hel YT BT & ¢ 3§ SMOT &l §dey g8 dl Uiy
¥ hY BAT & 7 ITH OMAT & BV BT b HeT hd YWIGd B E 7
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28 (a) What is mutation ? What are point and chromosomal mutations ?
List various types of chromosomal aberrations.
(b) Explain regulation of gene expression in prokaryotes by giving example
of lac-operon.
(®) SaigaT e wed § 7 fag SafEds o qoREl SafaaT &1 o 7
el faues % I veR aF-eme § 7
(@) WhiER § S fiyeafed o1 s We iU & IO g 99T |
29 (a) What are the main characteristics of tropical rain forests ? What type of
plants and animals are found in these forests ?
(b) What is biodiversity ? Why is it important to maintain ecosystem ?
What are the threats to biodiversity ?
(%) SOl Iuf I B w1 APuad ¥ ? el W B yeR @ auwid
dan S wfoal g S &7
(@) Saafaear |1 § 7 98 UIRRAieds & ST & fad R’ asas § 7
SAffIedr &l @ Ghe © ?Emm
i
30 (a) What is biotechnology ? What are its applications in the field of
agriculture ?
(b) Who is considered the father of immunology ? How are T cells
produced and give their functions ?
(®) SO’ T 7 BN H &F H I8 hd SR § 7
@) viawen Afgdl & TWh BE GW S T 7 T-RISERST @l Sdrd
®Y T § X 396 B W IARY | mm
e
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